B.Sc. 1st year (2024-2025)
CCE 1
(Major-ll)
Paper Name: Thermodynamics and Statistical
physics
(PHYSICS DEPARTMENT GOVT. COLLEGE NAGDA)

Note : Last date to submit this CCE is 15 october 2024

QUESTION 1(MCQ):

1) The eyepiece used in a spectrometer is(TAFeIHIET H YA fhaT ST
grell AU 8):

Huygens eyepiece(8TSIT A& ) .

Kellner’s eyepiece (holelX aif3hT)

Ramsden’s eyepiece (X&83<T AT3er)

None of these (378 & FIS =TgT)

2) S.N.Bose was born in(TH.UT. &I T ST g31T 2AT) :
Calcutta(deraraT ) N
Bangladesh (STTee2n)

Andhrapradesh (37Tersieer)
Karnataka(ssiTceh)

3) In eyepiece, we use:(ATIHT 7 3TITT FJ 8):

Single lens(hae Teh ol H)

Two plano-convex lenses ( G T - 34 o)

A convex and a concave lens ( Te 3de d Teh 3Tdddl o)
Two biconvex lenses (aT fa-3dl oi¥)

4) On T-S diagram ,the carnot cycle is(T-S 3RT W, FIc Th §) :
e Rectangle(3TId)
e Square (33T)
e Parallelogram (I8



e Closed cycle bounded by four curved lines(dR HATAGR @131 & feRT
d¢, Th)

5) Thermodynamic potential is (UAfS=TAS 99T §) :
Pressure (&Td)

Temperature (dT9)

Internal energy (3TdR& Fail)

Volume (3T )

QUESTION 2(Short answer type questions):

1) Define the first law of thermodynamics(FSHRIAST & 9UH HITH i
IRHATT HY).

2) What is bose-Einstien statisticssTa 3TSEeIeT AITEAHT FIAT §?)

3) State the Fermat's principle of extremum path and explain its
significance(THIAT & TR AT T FAcyrd faf&T va saehr earear fifav|)

4) State and prove Carnot’s theorem(sIafc I AT TV 3R gy ).

QUESTION 3(long answer type questions):

1) Define carnot’s cycle with the help of P-V diagram(P-V 3R T TE—IT &
PIATC Tsh Pl TRATTVT ) .

2) Describe the Huygen's eyepiece and explain with the help of a

diagram. (81331 AT3eRT T JuTT oY dUT AT aRT gaahT FRAfY v
e foreg3it & feufa aesms)



